

On a trigonometric inequality of Askey and Steinig.

Gilbert Helmberg Institut fűr Mathematik und Geometrie Universität Innsbruck

Abstract. A short proof is given for the inequality

 $\frac{d}{d\theta} \sum_{k=1}^{n} \frac{\sin k\theta}{k \sin \theta/2} < 0 \quad \text{for } 0 < \theta < \pi,$

supplemented by a discussion of some related results.

Mathematics Subject Classification: 51M16, 42A0, 42A24

Key words: Trigonometric Inequalities, Dirichlet Kernel

1. Motivation and results.

Let the function f_n on $]0,\pi]$ for $n \in \mathbb{N}$ be defined by

$$f_n(\theta) := \sum_{k=1}^n \frac{\sin k\theta}{k\sin \theta/2}$$

In [1] ASKEY and STEINIG established the inequality

$$\frac{d}{d\theta}f_n(\theta) < 0 \qquad \text{for } 0 < \theta < \pi.$$

Since $f_n(\pi) = 0$ this inequality implies

$$\sum_{k=1}^{n} \frac{\sin k\theta}{k} > 0 \qquad \text{for } 0 < \theta < \pi, \tag{3}$$

an inequality conjectured 1910 by FEJÉR and proved by JACKSON [4], GRONWALL [3], FEJÉR [2], LANDAU [5] (also reproduced in [7,II.9.4]) and TURÁN [6]. ASKEY'S and STEINIG'S proof of (2) is based on (3) and on careful estimates of various trigonometric sums in certain subintervals of $]0, \pi]$. The purpose of this note is to give a comparatively simple proof of (2) and to point out some conclusions which add to motivate interest in this inequality.

2. Proof of the inequality.

It seems convenient to introduce the functions g and h_n defined on $[0, \pi]$ by

$$g(\theta) := \frac{\sin \theta/2}{\theta/2} \quad \text{for } 0 < \theta \le \pi,$$

OURNAL

(1)

(2)



$$g(0) = 1,$$

$$h_n(\theta) := \sum_{k=1}^n \frac{\sin k\theta}{k\theta} \quad \text{for } 0 < \theta \le \pi,$$

$$h_n(0) := n.$$

Since $f_n = 2h_n/g$ inequality (2) holds if and only if each of the following inequalities holds on $]0, \pi[:$

$$g(\theta) \cdot h'_{n}(\theta) < g'(\theta) \cdot h_{n}(\theta)$$

$$\frac{h'_{n}}{h_{n}}(\theta) < \frac{g'}{g}(\theta) \qquad \text{because of (3)} \qquad (4)$$

$$\log h_{n}(\theta) - \log n < \log g(\theta) \qquad (\text{integrating (4) from 0 to } \theta)$$

$$\frac{1}{n} \sum_{k=1}^{n} \frac{\sin k\theta}{k} < 2\sin \theta/2 \qquad (5)$$

The last inequality obviously holds for $\frac{\pi}{2} \leq \theta \leq \pi$ since there one has

$$\frac{1}{n} \sum_{k=1}^{n} \frac{\sin k\theta}{k} \le 1 < \sqrt{2} = 2\sin \pi/4 \le 2\sin \theta/2.$$

It remains to check (5) on $]0, \pi/2[$. There, since $\cos \theta > 0$, it may readily be shown by induction that

$$\sin k\theta \le k\sin \theta$$

which implies

$$\sum_{k=1}^{n} \frac{\sin k\theta}{k} \le \sin \theta = 2\sin \theta/2 \cos \theta/2 < 2\sin \theta/2$$

3. Additional remarks.

1

n

1) ASKEY and STEINIG mention that (3) implies the following observation due to J.BURTOZ: for $z \in]-1, 1[, z \neq 0 \text{ and } n \in \mathbb{N}$ one has

$$\sum_{k=1}^{n} z^{k-1} \frac{\sin k\theta}{k\sin \theta} \neq 0 \quad \text{for all } \theta \in I\!\!R.$$

This assertion may be generalized in the following way: If $a_1 \ge a_2 \ge \cdots \ge a_n > 0$, then the function p_n defined on \mathbb{R} by

$$p_n(\theta) = \sum_{k=1}^n a_k \frac{\sin k\theta}{k\sin \theta} \quad \text{for } \theta \neq m\pi, \ m \in \mathbb{Z}$$
$$p_n(2m\pi) = \sum_{k=1}^n a_k$$
$$p_n((2m+1)\pi) = \sum_{k=1}^n (-1)^{k-1} a_k$$



satisfies

$$\sum_{k=1}^{n} (-1)^{k-1} a_k \frac{\sin k\theta}{k\sin \theta} = p_n(\theta + \pi)$$
(6)

and is positive for all $\theta \neq \pi + 2m\pi$, except in $\theta = \pi + 2m\pi$ if $n \equiv 0 \pmod{2}$ and $a_{2k-1} = a_{2k} (1 \leq k \leq \frac{n}{2})$.

The function p_n is readily seen to be even, periodic with period 2π , continuous on \mathbb{R} , and to satisfy (6). Positivity for $0 < \theta < \pi$ may be shown by induction: for n = 1 the assertion is trivial; for n > 1 one has

$$p_n(\theta) = a_n \sum_{k=1}^n \frac{\sin k\theta}{k\sin \theta} + \sum_{k=1}^{n-1} (a_k - a_n) \frac{\sin k\theta}{k\sin \theta} > 0$$

since the first term on the right side is positive and the second one is non-negative by inductive hypothesis. For $\theta = 0$ and for $\theta = \pi$ the assertions are clear.

2) Inequality (2) also furnishes some information concerning the DIRICHLET-kernel D_n defined by

$$D_n(\theta) = \frac{1}{2} + \sum_{k=1}^n \cos k\theta \left(= \frac{\sin(n+\frac{1}{2})\theta}{\sin\frac{\theta}{2}} \right) \qquad 0 < \theta \le \pi$$

$$D_n(0) = n + \frac{1}{2}$$

a) The corresponding mean value function

$$M_n(\theta) = \frac{1}{\theta} \int_0^{\theta} D_n(t) dt = \frac{1}{2} + \sum_{k=1}^n \frac{\sin k\theta}{k\theta} \qquad \mathbf{0} < \theta \le \pi$$
$$M_n(0) = n + \frac{1}{2}$$

is also monotonically decreasing on $[0, \pi]$

b)

$$\sum_{k=1}^{n} \cos k\theta < \sum_{k=1}^{n} \frac{\sin k\theta}{k\theta} \qquad 0 < \theta < \pi$$

c)

$$D_n(\theta) < M_n(\theta) \qquad \qquad 0 < \theta < \pi.$$

In fact,

$$\sum_{k=1}^{n} \frac{\sin k\theta}{k\theta} = \frac{1}{2} \frac{\sin \frac{\theta}{2}}{\frac{\theta}{2}} \sum_{k=1}^{n} \frac{\sin k\theta}{k \sin \frac{\theta}{2}}$$



by (2) is a product of two monotonically decreasing functions on $]0, \pi]$. This again already implies

$$\sum_{k=1}^{n} \frac{\sin k\theta}{k\theta} \ge \sum_{k=1}^{n} \frac{\sin k\pi}{k\pi} = 0.$$

Assertion a)

$$\frac{d}{d\theta}M_n(\theta) = \frac{1}{\theta}\sum_{k=1}^n \cos k\theta - \frac{1}{\theta^2}\sum_{k=1}^n \frac{\sin k\theta}{k} < 0 \qquad 0 < \theta < \pi$$

is equivalent with

$$\sum_{k=1}^{n} \cos k\theta < \sum_{k=1}^{n} \frac{\sin k\theta}{k\theta} \qquad \qquad 0 < \theta < \pi$$

This again is equivalent with

$$D_n(\theta) = \frac{1}{2} + \sum_{k=1}^n \cos k\theta < \frac{1}{2} + \sum \frac{\sin k\theta}{k\theta} = M_n(\theta) \qquad 0 < \theta < \pi.$$

Literature

- [1] R. ASKEY, J. STEINIG, A Monotonic Trigonometric Sum. Amer. J. Math. 98 (1976), 357-365
- [2] L. FEJÉR, Lebesguesche Konstanten und divergente Fourierreihen. J. Reine u. Angew. Math. 138 (1910), 22-53
- [**3**] T.H. GRONWALL, Über die Gibbssche Erscheinung und die trigonometrischen Summen $\sin x + \frac{1}{2}\sin 2x + \dots + \frac{1}{n}\sin nx$. Math. Ann. **72** (1912), 228-243
- [4] D. JACKSON, Über eine trigonometrische Summe. Rend. Circ. Mat. Palermo 32 (1911), 257-262
- [5] E. LANDAU, Űber eine trigonometrische Ungleichung. Math. Z. 36 (1933), 36
- [6] P. TURÁN, Űber die partiellen Summen der Fourierreihen. J. London Math. Soc. 13 (1938), 278-282
- [7] A. ZYGMUND, Trigonometric Series. Vol. 1,2, Cambridge Univ. Press, 1968.